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txamination for Guard 
(I) 

Duration : 03 Hours 
Maximum Marks: 100 

.a questions are compuisory. question NO. 1 -75 carry one mark each. Question No 76-89 is 
test of English Language and carry 1/2 marks each. Question No 90, 91 & 92 are to be 
answered in English 

ifl T 3ITCII I Ft c1d-ltcP 1-75 14ç-'c 1& ti 3T I ET cbd-llcp 76-89 3i 1TT t 

c1I 1c )c1i 1t 1i  1P31 I tT cldllcl 9O,91I 92 1cJIcI 31 3TfTT I 

1. Who was the first Indian ruler to accept Subsidiary Alliance offered by Lord Wellesley in 
1798? 

(a) Nizam of Hyderabad (b) Ruler of Mysore 
(c) Nawab of Carnatic (d) Nawab of Oudh 
eII I'(I 1I 4Iqcl 1i'q't1 1798 iIit ,-c1'Ict*( C1*1 cilefi tJ1T 31I, c1I 1N1cp  TF? 

(ni) IIc (1) c'&J( Th,icP 

( 31) cciicP cic1Il (SI) 3TZT'T c1C1I 

2. Mahatma Gandhi returned to India, leaving South Africa for ever in  
(a) 1915 (b) 1919 

(c) 1914 (d) 1916 
d1.IçHl iic 1i 4 fvr 31ctI c 11T[ ctè  

() 1915 () 1919 

(dT) fi 1914 ('El) 1916 

3. The ancient civilization of Sumer flourished in a region, which is a part of the following 

country in the modern world  
(a) Iraq (b) Egypt 
(c) Syria (d) Sumeria 

tcj 1T Cçj cp 3U1 MI i11ki l E  t!T 1ii 

(t) 'Uct () 1'& 

(JT) *1Ifl1t (Er) J1i 

4. Which seventh century Indian mathematician was the first in the world to treat 'zero' as a 

number and show its mathematical operations? 

(a) Aryabhatta (b) Bhaskaracharya 

(c) Brahmagupta (d) Panini 

 15T kcI)1 I1dl iiat ic1l ' t1' 611't 'ZP c -;1 14I tf Iilc)4 

() 31T41 () 31N-b'UtH4 

(JT) (El) uif1 
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5. "Love @ Facebook" is written by  
(a) Hindol Sengupta (b) Chetan Bhagat 

(c) Nikita Singh (d) Anurag Mathur 
"l j(  @bct" 

() 1c1J1I (•) cIci 1IJTZT 

(JT) ¶1bii  (Er) 3iIi ITt 

6. Radio Carbon Dating is use to estimate the age of  

(a) Soil (b) Fossils 

(c) Monuments (d) Rocks 
q,Cj fi  3 mr 31cIc1 cIdiIc i jlk. 5UI 1h4I "Ilcil 

() 1ç () 1)cBT 

( 1r) '-d1Ic (Er) tJc.I 

7. The term Grand Slam is associated with  

(a) Tennis - (b) Table Tennis 

(c) Badminton (d) Squash 
tsI31T 

() è1k1 (1w) ?i  aii 

(rJ) s1i (Er) Ff 

8. The Jallianwala Bagh Massacre took place during the Viceroyalty of  

(a) Lord Canning (b) Lord Ripon 

(c) Lord Curzon (d) Lord Chelmsford 

114IJIvlI IJI cj'I.I'(  3T1 

() eit  11iii (•)  fqcj 

('T)  c)cj (Er)  

9. Which of the following lakes is situated on the West Coast of India? 
(a) Astamudi (b) Chilka 

(c) Pulicat (d) Kolleru 

(ni) 3jdc) () 1ccpi 

( 1T) 1c1 (Er) c ç.ç 

10. Rupee coins were first minted in India during the rule of  

(a) Shahjahan (b) Shershah Sun 

(c) East India Company (d) Razia Begum 
ir  11c1 1'UcJ WIT "Nfl 21T 

(Zli) 1I:i () t1I  fJt 

(IT) 1I cbg (Er) 'ti14I JTJT 

11. The Indus Valley houses were built of  

(a) Bamboos (b) Wood 

(c) Bricks (d) Stone 
f{   cj 1ui 5Z1T TTT 

() ThT () çcf 

   

( 3T)  (Er) .-dd 
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12. A coin pushed on a table stops because 

(a) No force acts on it 

(b) It is very heavy 

(c) The table exerts a frictional force on it 

(d) The earth attracts it 

3j t bii T?1T ti ICF4)I ci-i'1 

() T tif c CP cj CcjI 

(•) r Hrt 

() t   3cj cMc  

13. A body is just floating in a liquid (densities of body & liquid are equal). If the body is 

slightly pressed down & released, it will  

(a) Sink to the bottom (b) Start oscillating 

(c) Come back to same position slowly (d) Come back to same position quickly 

1 41C1. tg t (ci -c.A 3t c1'(c4 IT lcici1 FUl'( )I cl'k-cj fr iii 1t'I 3 Tf 

s 1aii iIdI çq; ii  

(ta) 4gt (j(1'j Jdfl (W) ')eci 

('r) c cS cjIq 3TtI   311 ii4 (Er) 5T   1i2i11 311 1Ifl 

14. The liquid used in a clinical thermometer is  

(a) Water (b) Alcohol 

(c) Mercury (d) Benzene 

t! Wi.1 2IJ-1d-)k,1   -i r fb'n '11c11 

(iI) 1f (&) 1'u1 

(T) tfl (El) L1li 

15. Which mirror forms a virtual image of a real object? 

(a) Convex Mirror 

(b) Plane Mirror 

(c) Concave Mirror 

(d) All of the above 

cp cli fi 3IT1I  i1 ?ui? 

() .gie1 

() '-1d-Idç trUj 

(1T) 3lckic'i tT 

(El) óU'th 

Set-I Page3of16 



16. Sound travels at 332 meters/second in air. This means  

(a) That the source of sound moves at 332 meters in one second 

(b) That listener of the sound moves at 332 meters in one second 

(c) That air moves 332 meters in one second 

(d) The disturbance in air moves 332 meters in one second 
tlf  332 krvi tr  tg pr i JctI .Hc$ç  Z1 

(Er) cII 31i  tE 332 ak zr  rzr 

17. A battery is used to  
(a) Measure electric current (b) Maintain a potential difference 

(c) Measure potential difference (d) Measure resistance of the circuit 
t 'tl ,iJi 1bii ',lldl 

() 1ir cT1T â1Ncl () I T1TR 1t GC1Rr 'skl i  

f'r) ITnr cjI  i  (Er) .1& 'i1r i* 

18. Instrument those coverts electrical energy to mechanical energy is  

(a) Alternator (b) Transformer 

(c) Dynamo (d) Motor 
CttGj ff  Td I'i Z 1i1b li G1cfl 

(i) () i*qw't 
(rr) iiai'I (El) oi) 

19. The atoms in a molecule are joined together by  

(a) Covalent bond (b) Ionic bond 

(c) Single bond (d) Double bond 
t 39 3tJ   çj  

() 1Ict I4T () 31tl1cP csflS 

(ri) ii (Er) rr ii 

20. A change in which one or more new substances are formed is called  

(a) Physical change (b) Chemical change 

(c) Both of (a) & (b) (d) None of these 
Lcl- 1!ct IT 3Tf4 TtZ tIt iN JIOc1 t---- cP.l llc1i 

(if) i111ct  (r)  

(J1) (it) 3Th () 'kii (Er) c1 rf 

21. Which one of the following does not contain silver? 

(a) Horn silver (b) Ruby silver 

(c) German silver (d) Lunar caustic 

t ui t 

() t 

(T) EiT[ (El)  
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() fITI 

(El) 1tiir 3flc- 

(b) Transport hormones 

(d) none of these 

() g1cc1 cH'c1 

22. Bleaching powder:contains  

(a) Nitrogen (b) iodine 

(c) Chlorine (d) bromine 

1lIz5'( 

() 11lc1 () 31l)d 

(T) cJ-c)G1 (El) ii)c1 

23. "iMobile SmartKeys" mobile app has been launched by which of the following banks? 

(A)Axis Bank (B)lClCl Bank (C) SBI (D)HDFC Bank 

iMobile SmartKeys 4l1lel 1t4TT PbH Tct i'u 1bii PTF ? 

(5) fr*r cb () 3Tl Tt3TT C) (Fl) l43TET (El) tjq 

24. Highest percentage of nitrogen is found in which among the following fertilizers among 

the given options? 
(a) Calcium ammonium nitrate (b) Ammonium nitrate 

(c) Urea (d) Calcium nitrate 
1~k.! W 1cii'l c1lId i '11vtJ ifrrr 1b'tI 5cc dl ? 

() trall 3IJ1'11'4J1 cjIc. () 3jd-j1d1 cjlc. 

(JT) 1.JI (El) frir cjI 

25. Which among the following gas was leaked at Bhopal during the Bhopal gas tragedy at 

2-3 December 1984? 

(a) Methyl isocyanide (b) methyl isochioride 

(c) Methyl isocyanate (d) methyl isochiorate 
fr Iifci l 2-3 1ii' 1984 tfff J1'i I'Ic1 i cticj 3qTf c41c1" fii B p-TI? 

() flQlTr 31I+tIc1I 

(UT) l2Tif 31i'l'-Iick 

26. Nerve cells are long so as to 
(a) Transport nutrients 

(c) Transport impulses 
çC) f[3* e1  lt 

() UIC1c1 tñii dc6 

(T) gPcii 31Trfr 

27. Cardiac muscles are 
(a) Voluntary (b) Involuntary 

(c) Reactive (d) none of these 

(4) -Icb () 3{11T 
(1T) 1i1i (El) cf1, Tt 

28. A blo-degradable waste is  

(a) DDT (b) Plastic (c) Sawdust (d) none of these 
i,cf) c1 (Rio-degradable) J 

() () Lç c1 (3T) ecb1 ctl TT (FT) 4  
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29. The drug obtained from a plant is  

(a) Insulin (b) Magnesium Sulphate 

(c) Asprin (d) morphine 

fb'&i -it') T1W T (Drug) TT t 

(F) *jIc1 () 4l1TTJT ihc. 

(rr) 3i (ET) 33tJI 

30. DNA structure was first described by 

(a) Lederberg (b) Watson and Crick 

(c) Nirenberg (d) Catcheside 

1i.c-It. tjcjl 1t tTt IT 1~bI: Cjld 1i 

(i) c 4.tiI &) ciic.'(ii 3t 1ii 

(11) iI (El) -tfl 

31. Which of the following diseases is caused by a virus? 

(a) Plague (b) Polio 

(c) Tetanus (d) Leprosy 

c1I4Id '('Ji1 ?t tI1  ci*t )ciI ? 

(Zl) Lç () 14'111I) 

( 11) &cH1 (El) 8 

32. The Tropic of Cancer does not pass through  

(a) Rajasthan 

(c) Chhattisgarh 
q,c) j ci cl1 dI 

(E'i) TW21T 

(11)  

(h) Orissa 

(d) Tripura 

(w) z51I 

(Er) 1rgi 

33. A narrow gap in a mountain range providing access to the other side is called 

a  

(a) Mound (b) Strait (c) Pass (d) Valley 

Ud 3N1T TT1 1'(9 cj'?4 ijIc I( 'I'-c * CI lIdI 

() cHI () '&~c. (UT) ti (Er) 4k1 

34. In which of the following states is the Wular Lake located? 

(a) Rajasthan (b) Uttar Pradesh 

(c) Punjab (d) Jammu & Kashmir 
  çc( J TT ? 

(f) () 

(1T) ilsT (Er) 

35. The latitude between the tropic of cancer and tropic of capricorn is 

(a) Arctic Circle (b) Antarctic Circle 

(c) Equator (d) South Pole 

() 3flcb () 3T[ 

(JT) 3TZT (El) fUT 
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36. The smaiJest country of the world is 

(a) Tibet (b) Germany 

(c) Vatican City (d) New Zealand 

4I 

(li) I1d () 1dcI) 

(JT) a1èc4j (Er) c-Ms 

37. Which country is not a member of SAARC? 

(a) India (b) Myanmar 

(c) Bangladesh (d) Pakistan 

1)ci'th T '-lI) 1l 43 -'4 cj ? 

() TRT (&) d-lio1k 

(T) idtI~f (El) 4tI*dtc1 

38. Which is not the source of income for Government of India? 

(a) Excise duty (b) Interest 

(c) Income tax (d) Land revenue 

ft 1T1 Wt*i. i 1  311T li1 ci Gi l ? 

(ni) 5çqIc ç.cp (W) qii 

( 11) 3TRE .chi (El) ajti 'U:i'-c4 

39. In which year was the first Train run in India? 

(a) 1851 

(c) 1853 

tr4 cj 1I'(c1 

() 1851 

( 11) 1853 

 

(b) 1852 

(d) 1854 

* t1e1141 d14'I ? 

(&) 1852 

(El) 1854 

 

40. Which train in India has the longest run in terms of distance and time? 

(a) Navyug Exp. (b) Himsagar Exp. 

(c) Mangala Exp. (d) Millennium Exp. 

IRT *, '-Id1 3 c d1W1cl *, 1* c1I 4,  cicp 4c  c1R1 cj c11'Ic1 

() cjcJJJ 1CF,1 (&) f.d11IJR &!c1-+ 

( 11) dIcIt VcH (El) c111lJ kCl*I1 

41. A station vhere the railway lines end is called  

(a) Junction station (b) Way side Station 

(c) Terminal Station (d) BlockStation 
 cp  3flçU 

() ic-kl () HIii 1c1I -?r 

(JI) dcie -TT (El) &Icb 

42. Width of Broad Guage on Indian Railways? 

(a) 1676 Mtr. (b) 1.367 mtr 

(c) 1.776 mtr (d) 1.667 mtr 

 J1i 4i 4't iI'clI4 e1 J{ ibdc- ? 

() 1.676 () 1.767 J47 (aT) 1776 4t( (Er) 1.667 J11- :;( 
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43. The colour on the Indian flag which stands for 'Sacrifice' 
(a) Green (b) white 

(c) Blue (d) Saffron 
flTcflJ tJ5f tj 6j1Jj' çflC T cJ  TT 

(li) T () 1cbc 

(VT) 41i (El)  

44. Which is the longest river of South India? 

(a) Cauvery (b) Krishna 
(c) Godavari (d) Mahanadi 

 cj  qf.j 

() qt (W) cUll 

(rr) .iIctci.l (El) ii.iaicl 

45. The country which is the largest producer of milk in the world is_. 

(a) India (b) USA 

(c ) China (d) Brazil 
 tl 'l 64I c-L41cctt CP'tci I 

() mr () *rb '(kT'4 

(UT) TSIci (FJ) snflc'I 

46. Which chemical substance is present in tobacco? 

(a) Morphine (b)Quinine 

(c) Heroine (d)Nicotine 
dG1Ic J1   14Ct t11 dI cJit ? 

() 3TrT (w) c1cj (T) 5c1 (El) fc)j 

47. Who imposes income tax? 
(a) State Government (b) Reserve Bank of India 
(c )Central Government (d) Either Central Government or State Government 

31v1ct CI•)1C1 eiIdI 

() uri  &) ftr lcp 3IT1Zf ,14I 

(T) bc11 +l'(cpt'( (El) ff ft ç4 c*( I1 1f fC* 

48. Which part of body is responsible for the production of urea? 

(a) Kidney (b) Liver 

(c) Heart (d)Spleen 
 TT c1tc1 TE 1 -th 41 fT ct4kcl ct(dI 

() (w) frr 
çJT) 1f (El) k4i 

49. Cyclotron is a device which 

(a) Provides energy charged particles. 

(b) Measures the pollution level of vehicles 
(c) Takes a three dimensional picture 

(d) Analyzes the amount of water vapour in the atmosphere 

Set-I Page8of16 



'1ICFccf 1 Ij IcIIT 

() z'YIIC1Ici cpU t 1T q,it 

(_) cii 44I 'hi't G1II4c-Jl 

(T) T1 c1Ici 3Th4I$ R  (1d1 

(IT) I'd1Se ieK1if &t1u iir fITUT qji 

50. 0Gadar Party" was established by 

(a) LalaHardayal in 1913 

(b)V.D Savarkar in 1915 

(c) VallabhBhai Patel in 1919 

(d) Liaquat All in 1931 
'dIt( tuf" i*  ir ufr f'n rrr -rr 

(li) 1913 

() 1915 ,IIcItClit 

() 1919 

(tT) 1931 liPci 314 

51. Generally asteroids are found between. 

(a) Mars and Venus 

(b) Earth and Mercury 

(c) Mars and Jupiter 
(d}. Jupiter and earth 

 JItJ t S1k-I ;i 

(ni) aif 31l 

(UT) èjdic  3 -4T 

(El) 3fl 

52. The purpose of Indian constitution is reflected by 

(a) Directive principles of state policy 

(b) Preamble of the constitution 

(c) Fundamental rights 

(d) Moral duty 
3ii'dl'i T11T z Zf tIftff c1I 

(E1) (I4 1fl1 1IT Iiid 

() flflcTI[ t -dIc4c1I 

(UT) J111ICb 3ifR 

(El) c1ic4 Cç 

53. Indian Railways has signed pact with which state government to promote hospitality 

and tourism? 
(A)Nagaland (B)Manipur (C)Assam (D)Telangana 
I1i4.c1l c1 3TITh2f 3Th[ uki t1 4c,VIi 1 ii (1(c4It W21  E1f tR TTW fTtT ? 

(z1) JIl (1) (rf) 3TTJT (El) i.'ni 
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54. Which one of following statement is NOT correct? 

(a) Sound waves are transverse. 

(b) Velocity of sound is the highest in solid metals. 

(c) Sound wave travels faster in gases as compared to solid. 

(d) Sound wave travel more fast in liquid as compared to gases. 

Io-iId qc1? 

() 

(1) t?I1 fliT i, o)* '1T31t ,311 I 

(T) ci'i dli 11 c JI1 t4c'ic1 I 

(ET) t?J1f d' ci'f T cjpfcil 4Il 311 'J1'I titc1) I 

55. In which year Noble price was started? 

(a) 1885 (b) 1901 

(c)1913 (d)1905 
c11GJc'I cpi 4* dBc1 1bi I* 4* 1J4)  -fl? 

(Ti) 1885 (•) 1901 

(ir) 1913 (Er) 1905 

56. Which technology giant has agreed to provide Wi-Fi hotspots at 500 railway stations in lndia 

(a) Microsoft (b) Google 

(c) IBM (d) Facebook 
fcI r qcti t I?dJkji 4,L1C11 500 Q4a ~rfr c-i fTr cirr cpc 

1d1d) 

(ni) Il'kIILF. () rrrr 

(UT) 3I) (Er) *c1 

57. Who has been appointed as the new President of Microsoft India? 

(A)Kamal Jam (B)Anant Maheshwari (C)Rishikesh Bose (D)Bawa Singh 

d1Ict1I4c 1?,4I IV 31tTP1 $ cP'tci 1rb fT I4I 

(i)   cj (W) 3TTT dITt (JT) ijibi (1 (Et) cfl 

58. Which of the following is not located in Ladakh? 

(a) Hemis Monastery (b) Salt Valley 

(c) Dibang Valley (d) Zanskar Pass 

* C4fcj eNSI * f4T d ? 

(il 1ti () i  

(JT) 1idI lIc (El)  

59. P. V. Sindhu won silver medal for India in RIO Olympic. Which opponent she defeated 

in semi-final? 

(a) Carolina Mann (b) Nozomi Okhuhara 

(c) Tai tzu-ying (d) Wang Yihan 

4. c • fzft 'I rtr id t14 51TTI 3CG1 f U1) c J9C1ç'4 

I1d 1$zri -Tr ? 

() 1)1ICiI .HC1 () 1I 

çJT) dI fJT (Er) c4iq 

Set-I PagelOofl6 



60. The West-Central Railway (WCR) zone has become the first Railway Zone in Indian 
Railways to eliminate all unmanned level crossings. Where is the headquarters of this 

zone? 
(a) ihansi (b) Jaipur 

(c) Jabalpur (d) Kota 
-cHc1 r (wcR) Jflcjc 1T *Id1LlI ClWG1 r *(c14  * tT iER 'Ji1 

r rr i i r iir eA4Ic.1 ? 

() it () iit 
(r1) k','( (Er) qki 

NUMERICALS (61 -7, 

61. There are some cows, bulls and 30 Goats in a Group. One caretaker looks after six 

animals. The number of bulls is three times the number of cows. If the number of heads 
is less than the number of feet by 133 (including the caretakers),how many caretakers are 
there? 

a)9 b) 5 c) 10 d) 7 
V   kc  j)   3ft 30 Ic#fl'LI' I T 'cJcjJeJ ,.jJcjc S1Ie q)(dI 

t '14I, iii'ii r '4i ck1 .iciF I i1?, 11TH 'ii ((scBc '&ci)  133 PT ;,?fr 

cI 1c1c ,tsicic4 q Ai eii  ? 

T)10 

62. By what number must 3. be multiplied to make it a perfect square? 
a)4 b) 3 c) 5 d) 2 

tE tUj  M i 1, 32 '14I Ufl fbU ,,IIc1I 

(&)3 T)5 Er)2 

63. The value of 9x2+49y2-42xy when x=15 and y=3 is 

a) 636 b) 576 c) 386 d) 456 
IG1 x = 15 3fr;[ y = 3 T1 9x2+49y2-42xy I5T èc4  

i) 636 ) 576 J1) 386 Er) 456 

64. If a, b, c, d & e are five consecutive odd numbers, their average is  

(a) 5(a + d) (b) abcdelS 
(c) 5(a +b + c+ d +e) (d) none of these 
3TR e1IIdI't 14jT 1&I 11II fr ic1 3lE  

() 5(tT  + t) () rr/s 

(Er) ciTf 

65. The sum of the first 45 natural numbers is  
(a) 2070 (b) 1035 
(c) 1280 (d) 2140 

45 Ic)IcP 43itm ZT  

(T) 2070 () 1035 

(JT) 1280 (El) 2140 
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66. The least number of five digits which is exactly divisible by 12, 15, & 18 is  

(a) 10010 (b)10015 

(c) 10020 (d) 10080 

() 10010 () 10015 

(IT) 10020 (El) 10080 

67. What fraction must be subtracted from the sum of 1/4 and ljt to have an average of 

1/12 of all three fractions? 
(a) 1/2 (b)1/ 

(c) 1/4 (d)1j 

31T 1/4 31l l,t i  Pi 3Tl 15Y Jd-li iiciI tlI1 d1I cud 31P* f 3frfRT 1/12 Gl'UGl' 

(i11/ ()l, 

(JT) 1/4 (IT) 1 

68. The value of (3.75 x 3.75 - 2 x 3.75 x 2.75 + 2.75 x 2.27) =? 

(a) 1 (b) 1.75 

(c) 4.75 (d) 6.5 

(3.75 x 3.75-2 x 3.75 x 2.75 x + 2.75 2.27) ? l J1e-'4 GIdI 

(l) 1 () 1.75 

T) 4.75 (E1) 6.5 

69. At an election involving two candidates, 68 were declared invalid. The winning 
candidate scores 52% and wins by 98 votes. The total number of votes polled s  

(a) 2512 (b) 2450 

(c) 2382 (d) none of these 
l ,5d-$1JI'(1   t tJc1K4 68d-Id' 3TT 'lIci tTr "NI I ~hl4) - cII'( t 52% TT TT1 

 3f c  98 c4 jflçjçj '4t cjk 4t iit icicfl 

(i) 2512 ()2450 

(Jr)2382 

70. A car completes a certain journey in 8 hours. It covers half the distance at 40 kmph anjJ 
the rest at 60 kmph. The total distance of the journey is? 

(a) 350 kms (b) 384 kms 

(c) 400 kms (d) 420 kms 
c4)  ct)  8 } Lct) I1d lIII  I  40     Uè 31T c1 3 60 

c'ik  cf1 k1  tR 1T4r c1    d4 ii 41  t Idc4') ? 

(Ct)) 350 C&) 384 'I)4lc 

( 1j) 400 1'IJ11 (El) 420  

71. How long will a man take to walk around the boundary of a square field which has an 

area of 9 hectares and he is walking at a speed of 6kms/hr? 
(a) 12 minutes (b) 15 minutes 

(c) 16 minutes (d) 20 minutes 
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c cicb 17f 3fl t ZI* fr 9   rg t ticcp 

IdciI IJ4 e1J 41 6bJ/9?J 'i11 TFF ? 

()12lc1c. ()15lc1c 

161ci. (9)201ci. 

72. The hypotenuse of a right angled triangle is 6.5 m and its base is 6 m. The 
perpendicular length is equal to  

(a)2m (b)2.5m 
(c)lm (d)1.5m 
i jc)u 1ciUi N ciUi 6.5 4k( 3ft 5+IclI 31TJI 6 cfC.'t I 5c  31frr   zi  

() 2 4k( ('W) 2.5 $k. 
(1)1d11c (9)1.5 4k't 

73. Two trains 134m & 116m in length respectively are running in opposite directions, one 

at the rate of 40 kms/hr andthe other at 50 kms/hr. In what time wilt they be completely 
clear of each other from the moment they meet. 

(a)9secs (b)l0secs 
(c) 11 secs (d) 12 secs 
t JII14'1 134m 3t 116m f11 * c1air:, 40 1b4'I/8?J 3ft 50 1b4I/FRJ 1 'hiI'( l'1c1 1?TI3ft 

()9E4s (s)10 

('flh1 (U)12 

74. If 12  + 22 + 32 +
+ 102 = 385 then the value of 22  + 42 62+ +202 is equal 

to: 
(a) 770 (b) 1540 
(c) 1115 (d) (385)2 
31'R12+22+32+ + 102 =385t 22 +42 +62+ +202  N d-IIc-I  GI'ij61't 

() 770 () 1540 

q) (385)L 

75. B is the father of Q. B has only two children. '0 is the brother of R. R is the daughter of 
P. A is the granddaughter of P. S is the father of A; How is S related to 0? 

(a)Son (b) Brother 

(c) Brother - in —law (d) Sister-in—law 

"cIV' "RJ' fflT i "?r' i- r "-' ",3u" T am "3-IR" "11" c11 i "" "" 
i "Lt' "IT' F tRTT I tAdI "L!+l" 1fr d' "R' HT1T ? 

()l;4 ()IT 

(;JT) ff1T (El) mft 
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For each numbered word, select the lettered word which most nearly defines it. 

76. MALINGERING 

(a) Creating ill will (b) feigning illness 

(c) Defaming (d) Lazy 

77. PENITENCE 

(a) Retribution (b) Submission 

(c) Confinement (d) Repentance 

78. ACCORD 

(a) Solution (b) Dissent 

(c)Act (d) Policy 

In the following questions choose a single word that can be substituted for the given 

words 

79. A dark grey cloud that brings rain or snow. 

(a) Nimbus (b) Blizzard 

(c) Hail (d) Fog 

80. A situation that exists at a particular time without any changes being made to it. 

(a) Stagnation (b) Laissez-faire 

(c) Status quo (d) Corrigendum 

81. An imaginary name assumed by an author for disguise. 

(a) Pseudonym (b) Pen-name 

(C) Nickname (d) Homonym 

In the following questions, an idiomatic expression/phrase and its four possible meanings 

are given. Choose the correct meaning. 

82. To drive home 
(a) To find on&s roots (b) To return to place of rest 

(c) Back to original position (d) to emphasize 

83. To smell a rat 
(a) To act unfairly (b) To talk boastfully 

(c) To have reason to suspect (d) to discourage 

84. Crocodile tears 

a) Tears of Crocodile b) Pretended sorrow 

b) Weeping crocodile d) mild regret 

Pick up the word that fills the blank space correctly 

85. The effects of the drug made her weary. 

(a) Soporific (b) Succinct 

(c) Spurious (d) Supine 

86. in some countries malaria is an  disease. 

(a) Endocrine (b) introversive 

(c) Endemic (d) interstitiai 
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87. It was your that music is coming from the new room. 

(a) Apprehension (b) Allusion 
(c) Illusion (d) none of tnesE 

Two words in capital letters bear some relationship with each other. Discover that relation 
and pick up two words from answer choices which bear the same relation. 

88. ENERGY: DISSIPATE 
(a) Battery: Recharge (b) atom: split 

(c) Food: Heat (d) Money: Squander 

89. THROW: BALL 

(a) Shoot: Trigger (b) Pat: Dog 

(c) Mew: Cat (d) Boil: Shell 

90. Read the passage below and answer the questions (Marks: 4) 

I also do not believe that students as such should take part in politics. For youth outside the 

colleges and schools it is different. But as long as students are studying in universities, 
colleges and schools they should not an active part or associate with any political 

organization. They may study peacefully and quietly, and after they have completed their 
studies, they should be free to associate themselves with any political party or political 

organization. I would humbly appeal that language should serve as a cementing force. 
Language is to unite; it is not to disunite. Language has to integrate and not to disintegrate, 

and therefore, we have to keep the question of unity first and foremost in our minds. I 

would, without taking much time say that we should always have the vision of a united 
India. There minds I, they should carry an image of the whole country, a map which has no 
internal dividing lines but only the frontiers of the vast and varied and yet united land. 

I. The writer wants to say  

(a) Politics is a dirty game 

(b) Studehts should concentrate on studies alone 

(c) Students are full of energy 

(d) Political organizations are dangerous 

II. What should language do? 

(a) Unite the people 

(b) Distinguish different groups 
(c) Disintegrate society 

(d) None of these 
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ill. The main idea of the passage is  

(a) India should remain united 

(b) Students should not take part in politics 

(c) Language disintegrates 

(d) Methods to maintain unity in the country 

IV. The attitude of the writer is that of  

(a) Politician 
(b) Nationalist 

(c) Democrat 

(d) Socialist 

92. Write a 300 word essay in English on the topic "Beti Bachao, Beti Padhao Yojana" or "Yoga 

and its Benefits—Yoga Day Prospects" (Marks : 8) 

93. Write a letter to draw the attention of local Muncipality regarding your suggestions ! 
improve the cleanliness of your town/city under Swachh Bharath Mission. (Marks: 6) 
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Examination for Guard 

Duration : 03 Hours 
Maximum Marks: 100 

All questions are compulsory. Question No. 1 - 75 carry one mark each. Question No 76 - 89 is 
test of English Language and carry 1/2 marks each. Question No 90,91 & 92 are to be answered 
in English 
TTt T 3i1Icii I T c4diici 1-75 1c-c1 1W tEli 31 ;i i;rr cheuCl) 76-89 1i 31tt ir *r rrr 

1. Which acid is normally found in lemon and grape fruits ? 

a) Lactic acid b) Ascorbic acid c) Tartaric acid 
'1Id1I t Gk3 31J t tffff tidi 

li)1kci IS ) 4 CpIfCl) !1s i1qi1.1s 9)1I1c4 

2. Archimedes Principle is related to 

d) Citric acid 

a) Right Angle Triangle 
c) Laws of floatation 
ii11i lid (I6l1c1 

f)*Ja.Ic1uI fjn 

11'qail 

b) Laws of Gravity 
d) Relation between current and voltage 

•) cc1IcPLuI i di1 

3 Cè.JI i 

3 Which Mughal Emperor adopted the title 'Alamgir' ? 
a) Humayun b) Akbar c) Aurangazeb d) Jahangir 

f'(i ddJl '(1&II CD '3JIe1d14l,('31UG1Ie1I? 

) djI4 ) 3TR T) 3IkGl 9) I14ui 

4. Who has won the 'Asia Cup' in March-2012. ? 

a) Pakistan b) India c) Srilanka 
Cb'tcl 1TE 2012 t!f1ff I1'Ild 1ii l ? 

-c1Ic1 TR1 JT)cicpI 

Which Country has never won the Cricket World Cup ? 

a) India b) Pakistan c) Srilanka 
rtr1 ft3?kfl? 

i1*c1Ici 1)leCDI 

6. The function of hemoglobin in the body is 

a) Transport of Oxygen b) Destruction of bacteria 
c) Prevention of anemia d) Utilization of Iron 

f) 3jcìjJc1 U1G1 W ) ch!fl1I ii 1rrr 

T)  iciRUl 9) 31IFtc1 i4Pkii 
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7. Where is the Headquarters of South Western Railway ? 
a) Chennai b) Bangalore c) Hubli d) Secunderabad 

vr ei cfi? 

i) tGG1 ) dIQl'I,( lfl IF E 1Ic'(iGiic 

8. Indian Railways comprises of number of zones? 
a)14 b) 16 c) 12 d) 9 

)16 C)12 9)9 

9. Which trains runs from Destination to Destination without halt ? 

a) Rajdhani Express b) Shatabdi Express c) Duronto Express d) Sampark-Kranti 
4i 'ic1C'l Icii ticfl ? 

I,11Ic1l 4,cl-k1 IdIl ci-(iki T)cci -*i* 

1O.Which among the following states do not share the drainage basin of the river Mahanadi 

(a) Orissa (b) Jharkhand 
(c) Chhattisgarh (d) Madhya Pradesh 
f -i '(kr1l cl)lci HiIc1I rr 1qn  Ri 1 - ii G1 

(I) z*I () T1HS 

(IT) flioi (El) TtT 1Tr 

11.The largest spice growing state in India is  
(a) Tamil Nadu (b) Assam 
(c) Kerala (d) Karnataka 
JiRd I* iT o1'tlRl *I cIcII'( cc  flff '(ky.q 

(dI'Ici 

(1)b cpGjci 

12.The unit currency used in Germany is  

(a) Rial (b) Krones 

(c) Yen (d) Euro 
iM1 çâiii  

()14Ie1 ()c1 

(1)T (9)1 

13.lndia is not a member of 

(a) UNO (b) Commonwealth 
(c) ASEAN (d) G-15 

()*it) fET ()'tId1Sel 

(1)31lIflc1 -15 
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16.The Prime Minister is the 
(a) Head of the state 

(c) Head of the Government 
dI 

'(I.rq l 

(1) ,t-I,(C4)I.( T 

14.The state which leads in agricultural production is 

(a) Haryana (b) Punjab 

(c) West Bengal (d) Tamil Nadu 

-qici 31T°1t  

(li) 4.iiuII () 14JG 

(T)q1lT jdIIç (tl)d1c1I 

15.The oldest oil field in India is in 

(a) Haldia (b) Bombay High 

(c) Neyveli (d) Digboi 

'L16 Icfl ll 

(li) 1ii ()  3El 

fl1dlG1'1 

(b) Both A and C 

(d) None of these 

(3Tc11 

(FOc1 cj  i 

17.The Constituent assembly (Constitution assembly) was set up in  
(a) 1947 (b) 1949 

(c) 1950 (d) 1946 
1%IIG1 iiir iiY -----i -ii1-i 1ii rrrr ir 

(is) 1947 () 1949 

(T) 1950 (El) 1946 

18.The Buland Darwaza was built by  

(a) Akbar (b) Babur 
(c) Jahangir (d) Aurangzeb 

c'(C1kII ---------1 61c1IlI Tff Tl 

()6IIGI( 

(JO i.i$k (El) 

19.The famous Kohinoor diamond was produced from one of the mines in  

(a) Odisha (b) Chotanagpur 
(c) Bijapur (d) Golconda 

1il cIicci  'SlIi1   TU Tf 

() 3*frr () ckIc1IdI't 

(JOGfl,1'( 
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20.The first Satyagraha of Gandhiji for the cause of indigo farmers was observed at
* 

(a) Champaran (b) Chauri-Chaura 
(c) Bardoli (d) Sabarmati 

 & fl  ¶bmiS i  1    r   u 

() iui, ur () 
(T)ns)c1I (9)'iI1'(dic1I 

21. Who gave Vallabhbhai Patel the title of Sardar? 
(a) C. Rajagopalachari (b) M. K. Gandhi 
(c) J.L. Nehru (d) M.A. Jinnah 

r3raii titr t "cj' 15F IdI6E 1'& 1?4I 2-fl7 

(li) ,(h,IdI'UIulIzlI,tl 

(T) . c 

22.The remains of the Vijayanagar Empire can be found in  
(a) Bijapur 

(c) Hampi 
'1IdI1 3T1 F 

 

(b) Golconda 

(d) Baroda 
 tfff ff 1q)I 

 

(?li) 4l5II () JIecjjsi 

(fltI (s1ci 

23.Two large temple complexes have been found in Angkorwat, Cambodia. Which religion are 
they associated with? 

(a) Hinduism (b) Buddhism 

(c) Shintoism (d) None of these 

()fcm citth 

(T) k-d'1 -oi (9) cjö% c  cj 

24.Who got the Khajuraho temple constructed? 
(a) Chhatrasal (b) Kings of Parmer Dynasty 

(c) Kings of Chandel dynasty (d) King Bhoja 
 4jf ejju 1i 1bii? 

(F) iiii (I(oiI rr i IT3t 

(T) t? i urr3t 

25.The Third Battle of Panipat was fought between  
(a) Marathas and the East India Company (b) Ahmad Shah Abdali and the Sikhs 
(c) Ahmad Shah Abdali and the Marathas (d) Ahmad Shah Abdali and the Mughals 
gjc.flg fli1 asi 1r ei 

() dj'(IOi 3i cpqG.fl (i) 31 3iGid1 3fr fft 

(JT)31er 3itefl 3Th  T1 3iiel) 311( eif1 
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2.Gandhiji went to England in 1931 to attend the  

(a) Second Round Table Conference 

(c) Third Round Table Conference 
--1Ti1 1931 

(li)cA hA'J1 (1d-JkIci ()ti  'II 1d-dIc1 

(IT) clki'ti iciki *Idde1c1 (1) ,gtlrt 

27.Guru Govind Singh was killed in 1708 at  
(a) Nanded (b) Amritsar 
(c) Keeratpur (d) Anandpur 

IF 1708 '-2iic tR rgr Tff TF 

(i) cll&5 

(IT) 4kdt 

28. Light year is a unit of 

 

()31eLciFt 

fET) 3Icict'( 

   

(a) Time 

(c) Distance 

(lThiai4 

  

(b) Mass 

(d) none of these 

  

(&) 4c41 

(El) cjc q, 

29.ln which atmospheric layer are the communication satellites located? 
(a) Stratosphere (b) Ionosphere 
(c) Troposphere (d) Exosphere 
dfld5efl4 ,1i '1t1I( z411 f1d ? 

() j4q (1) 31I1-I1'( 

(q-4i. (ds1 

30.A person feels lighter while swimming in a pool. The phenomenon is explained by  
(a) Archimedes Principle (b) Bernoulli's Principle 
(c) Huygen's Principle (d) Pascal's Law 

 wr ciRb eCPI J1.*i CP'(cll I 4cjI l*  '1djI ff 'jcpjI 

I11 1ic1 () 411 T Id 

(UT) bd'cf I Rji (9) Lfl(-(4Qj CIcI 

31.Which of the following combination of properties would be most desirable for a cooking 
vessel? 

(a) Low specific heat & high conductivity (b) High specific heat & low conductivity 
(c) High specific heat & high conductivity (d) Low specific heat & low conductivity 
ltd-GI cttcl 1T 1,Ic1 T,TIli 'slIciF icitcl Ucflcfl i  IGI'i 3T1ff c4Icl t .icc1I 

() 15T 1fT& 3Ii 3ET tIç.c çjI (l) 5E1 fifi .rio1 311 f TJçC)I 

(;JT) 5EE1 1MTE i~f 31i 3T t1c çjI (9) F 1fTE T1I 311 ThT tlIeicPdI 
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32.A periscope is used for  
(a) Observing the spectrum 

(c) Observing enlarged images of near objects 
V .'-q,Ig  11i, u'i'i 1bqt 'IIciI 

ilci 

33.Hertz is a unit of  

(a) Wave speed 

(c) Frequency 

(ZJT 

(1)3fl 

(b) observing distant objects 

(d) observing objects over obstacles 

(8)3icici1cci fl1T31 q c31 F ~cii 

(b) wavelength 
(d) Displacement 

(n çj(dA 

(Er) ¶+jqi 

34.lf an ebonite rod is rubbed with fur the  
(a) Protons move from fur to the ebonite rod 
(b) Electrons move from fur to the ebonite rod 
(c) Protons move from ebonite rod to the fur 

(d) Electrons move from ebonite rod to the fur 

(il') i'kTi1 qj ciq 

() çcjcj' cfl5 ci't'4) Hc1Idc1 d'  

(11) u1di1 GicUS d'(4 ,t- 4Ic1Idlc1 t* 

(ti) ci1 tlR fIS * R15 +IIcijdIf  

35.The device that controls heating and cooling to maintain a desired temperature is  

(a) Cryostat (b) Thermostat 

(c) The rmister (d) Therm ite 
RT 3flr r l5 i cllqauci i5l l4Id *uq & f Ti jjçj ---4 

(IIi) w'q'k-& çW)  

T)4ici 

36. What is atomic number of an atom? 

(a) Number of protons 
(c) Number of electrons 
t t q(d1Iu,  *1i ?RIT ? 

(Z1)i,jkTj1 

(ciTj1 T '(c'ilt 

37. Which one of the following is the softest? 
(a) Sodium (b)iron 

(c) Lithium (d) aluminum 
qtv1 M? 

i•)ll€H 

(1)1ioi 
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38. Bauxite is an ore of 

(a) Copper (b) zinc 
(c) Aluminum (d) iron 

Gt'c1-.th,c.--- 15t 1ff  il'1) 

(li)ctT'4't ()I'hiI 

(k14d1 

39.Water drops are spherical because of 

(a) Polarity (b) viscosity 

(c) Surface tension (d) density is one 

11 1 d4Ic4){ c1 *1 ---- 

() cict ,(uI () fqqqj 

(Th1d. cicilci 

40. Fleming's left—hand rule is used to determine 
(A) The current flow direction of the magnetic field 

(B) The direction of induced current due to impact of magnetic field 
(C) The direction of current motion in magnetic field. 

'D) None of these 

 i 11V li llf 1IJI ----lfr 11Mci c ç fI ,i4i 1i iicii 

() GIC ii cièflci r fir 

(t4 r1rr 

(IT) tJ,GICf4 cicdiIci i1 i 1rri 

(Eflcio1 C4  c1 

41.Which fungus is used in production of bread? 
(A) Saccharomyces 
(B) Aspergilius 
(C) Penicillin 
(D) Azotobacter 

C())cj 11  dIj i c -IIcci ')lldl 

() 1tt1I('d-1'H*I 

)31' -L11Zei 

cj 

(ET) t)d1cic't 

42.Which chemical is used for preservation of foods? 
(A) Sodium chloride 
(B) Sodium benzoate 
(C) Potassium permanganate 
(D) Boric acid 

 L141 TTUT 1i 'illc1 15T !1),I 'JI1dI 

(ni) .iI1?,.iai c-ç4(5 

(i'ff?,di i 

(IT) ttfzri  

(t)cjlrkct 
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43.The largest delta in the world is 
(a) Ganga Delta 
(c) Sunderban Delta 
1I4I *lG T ecI  

(*ff ei 

(fl*Ac*1  

  

(b) Mahanadi Delta 
(d) Godavari 

 

()d.Jcic1 t"cI 

(Et) I')cIci 

44."Directive principles of state policy" of Indian constitution are taken from 
(A) Canada 
(B)UK 

(C) Ireland 
(D) USA 

1R&'1 't11IC1 c1'1 *T icIl' 4 1II T1T I 

() Cfl 

re 

(1J31I'Fts 

(E1)t  3icflcti 

45.Which is the first Indian state providing reservations in government jobs in favor of HIV 

positive candidates? 
(A) Delhi 

(B) Karnataka 

(C) Kerala 

(D) Gujarat 
UJ fl'cfl4 (kx'4 fr vEr3ndF 11èci -eccTh('1 i   GIfC14 3m(TUT 'ITT l 

() c4cjc4 

(1) cbe 

(El) ici 

46."Modern supersonic Bramhos missile technology" of India is developed in collaboration 
with 

(A) USA 

(B) Russia 

(C) France 
(D)Japan 

cj  itcc1t ----------i i1' J[ TTF 

()t '&krq 

(T 

(J1)T 

(El) .flNM 
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4.Which institute is responsible for the distribution of finance between centre and states of 

India? 

(A) Finance ministry 

(B) Finance commission 

(C) RBI 

(D) LokSabha 
*&cl*i. 311w 1l'td i kr1l i 4tEl 1i i 1cj(UI 1W q'tcl '(1'-1I 1d-kd't 

(i)1l d14Ij 

(W)1d 3iidi 

(T)ii'ctk 1icS C4) 

(Er) ci1ci*i1I 

48."Central institute of Indian languages" is located at? 

(A) Mysore 

(B) Varanasi 

(C) Hyderabad 

.)_Ujjain 
'C)ci1 3Th(cIl &ff91 (j4Ic1 — f çj ? 

() ' 

() cii.iuifl 

(IT) c ,Uslk 

(El) ri 

49. What was the theme of the 2016 Rio Olympics? 
(A)Peace for inner soul (B) World peace and Environment 
(C)Nothing can achieve without peace (D)Live sports, live freedom 

sTiw 2O16F 1ii RTr 211? 

(j) 3T3TlFJ1T r ui1t (&) I it1 3 gu 

ri1ciI JC4 ç (El) c dIl*11ciI 

SO.ln Parliament, a committee is appointed for special purpose is called— 
(A) Standing committee 
(B) Ad hoc committee 

(C) Joint committee 
(D) Permanent committee 
1c 1i SI4I.*I ii  1t 1ii 'IldI _--q.i %llc1I 

(i4l  

()dc 1  

(1P i1i1
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51.Which virus is responsible for Measles? 
(A) Morbili Virus 

(B) Street Virus 

(C) Vacicella 

(D) Bordtella Pertusis 

s1'FU 1  C1)1ci C11 ¶d-dcI' ? 

(?ji) 1'tc1I c1I44.' 

(flci ciii'ti 

(IT) eviI 

(9)  

52.lndia's Dipa Karmakar represents which of the following sport/event 
(a) Shooting (b) Gymnastics 
(c) Basketball (d) Table tennis 

TâiN( 1dcj &i *1 U1111kc1 cfr(d ? 

(') M () cc-4 

e 

53."Airlander 10" the world's largest aircraft has successfully makes its first flight, is belonge 
to which country? 

(A)United States (B)United Kingdom (C)France (D)Japan 
•VA•lnd 10 11ii r  r Rmi dlLc1 31t1ft tifI &Slcj Tt , 3 1bi kr 

Rcp1 ci 1bqi? 

(li) *jtp '  iJ11qn (11) 1rsoi r) RT (9) uqrci 

54 closes the wind pipe at the time of swallowing of food 

(a) Larynx (b) Epiglottis 
(c) Trachea (d) none of these 

() TiT1 () 

(fli31T (9 ff 

55.Which one of the following lakes is a salt water lake? 
(a) Sambhar (b) Dal Lake 
(c) Wular (d) Gobind sagar 
1id,ci11c1 5rT1v ' Cç 1T V1i cjdlcb 

(li)di3i'( 

(J) cg (9) 'i'l1 'thUR 

56.The headquarters of Indian Space Research organization is located at  
(a) New Delhi (b) Bangalore 

(c) Thiruvananthapuram (d) Cochin 
ii'(cli 3FI1U 311TE Ocl T d1Ie1 

() 4 1a(Qt (T) 'ic#( 

(71)fcjjdj 
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57.Who has been appointed as the new Governor of the Reserve Bank of India ( RBI)? 
(A)R Gandhi (B)Urjit Patel (C)S S Mundra (D)N S Vishwanathan 
3ji'cfl'i lIC' CD (31Rt31T) iV '(krqq1e1 cp'tci 1I fbii TTF ? 

() 31R ifdt () z,ici titi (IT) F tET dcii (Er) VT 1l 11T4T 

58.lnfosys has recently bagged a contract from the Government of India (Got) to set up IT platform for 
which of the following? 

(a) Digital India (b) Goods and Services Tax Network 
(c) National Population Register (d) National Agricultural Market 

rni *w wr ¶1i tu uPcf ir (-lIfi:l c  

31TW1~bqi ? 

(1c.g Iii (I)c1c V cii ii ckcic 

(IT) 'ufli 1ci 1 1*c.'t (El) uk c;jI?: IMR 

59.Which among the following is NOT a G4 group country? 
(a) Japan (b) Germany 
(c) Brazil (d) South Africa 
fd-G11jc1 tqtc1 f-41d c1 ? 

IIqcj (t) .,,1dcII 

(fldn,Yg (EtUl3cpi 

60.Project Ananya" has been launched by which of the following Indian banks? 
(A)State Bank of India (B) Syndicate bank 
(C)Punjab National Bank (D) Dena Bank 

ci1 RT 1bqi Rff ? 

(li) 8iicfli tèc cP C) 11?,& cp 

(IT) 'L,iii TTt ff (IT) 1l cl 

NUMERICALS (61 -75) 

61.ln a school 10% of the boys are same in number as 114th 
 of the girls. What is the ratio of 

boys to girls in the school ? 

a) 3:2 b) 5:2 c) 2:1 d) 4:3 
 10% eSciI 1/4 (1S1b1 '1'Lc4I l'Ul'( I -qel eSc1 121T c't.141 r 314Id 

J5:2 Efl4:3 

62.The cost of a Refrigerator is Rs.1000/- Every year its cost depreciated by 25%. What is its 
cost after 2 years ? 

a) Rs.562.5 b) Rs.437.5 c) Rs.600.0 d) None of these 
Ti  ciioici 1000 I ff1 ic1 ciidIc1 25%1 1kici. 311 t I '1Iv1 1T (141 cdçj 

Rt1 $i ? 

ff) Rs.562.5 1) Rs.437.5 T) Rs.600.0 9) CJ€ CJ G-I1 
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63.A circle and a rectangle have the same Perimeter. The sides of the rectangle are 9 cm and 
13cm. What will be the area of the Circle? 

a) 88 cmsq b) 154 cmsq c) 128 cmsq d) None of these 
9i 3th• tT 31Tf tiff I 31P1T 1 *II6 9 t 3flt 13 * i ii  i 

'IdII 

?ff) 88 CMSQ ) 154 CMSQ ?T) 128 CMSQ El) cj c  cj 

64.Five years ago the average age of A, B, C & D was 45 years. Another man, E joined them 

after which the average age of all the five was 49 years. How old is E 
(a) 25 Years (b) 40years 
(c) 65 Years (d) 60 Years 
t ITr  i, fr, fr 3 r 3r 45 rrr I 3 id1 ii1    ff tfr 

''51bc1? 

(9)25lk 

(T)65* (8)60k 

65.Find the sum of all the odd numbers from 40 to 61 

(a) 560 4b) 561 
(c) 660 (d) 661 
40 61i i 1* IaI 11[J1 T ñi  ? 

()560 ()561 

(VT) 660 (9) 661 

66.Three numbers are in the ratio of 1: 2: 3 and their HCF is 12. The numbers are  

(a) 12, 24, 36 (b) 10, 20, 30 
(c) 5, 10, 15 (d) 4, 8, 12 
cfki Ti1t 1:2:33tc1Id tFtl 12Hs4I 

(?11) 12, 24,36 (41) 10, 20, 30 

(1) 5, 10, 15 (El) 4, 8, 12 

67. 3 X 0.3 X 0.03 X 0.003 X 30 =? 

(a) 0.0000243 

(c) 0.00243 
3 X 0.3 X 0.03 X 0.003 X 30 ? lil d.Jç1 6jç1I 

(b) 0.000243 
(d) 0.0243 

(li) 0.0000243 

(IT) 0.00243 

(l) .000243 

(9) .0243 

68.The cost of a television set is Rs 36,000. Its cost has been increased to Rs 58,000. What is 
the percentage increase in costs? 

(a) 61.11% (b) 37.93% 

(c) 44.33% (d) none of these 
e4ldld 36,000'(4 I (JcI IdId 58,000 1I 4 i ell'IcI F11RT cI 

11)dG ? 

() 61.11% () 37.93% 

(T)44.33% (Eflcii1 
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69.Ravi runs at 15.6 kmph. How many meters would he run in 2 minutes 

(a) 520 m (b) 312 m 

(c) 260 m (d) 468 m 

1t 15.6 1'c.'t thf tit t14IdI l t 1c1C. 1~Pc1cl $k.'t *1 PT c  

() 520 4k'i. (•) 312 d11'( 

(T) 260 alk'( (1) 468 elk'( 

70.The area of a rectangular field is 6050 square metres. Find the length of its diagonal. 

(a) 110 rn (b) 220 m 

(c) 115m (d) 116 m 
t 3ilqcllq*( bT 44el 6050w JC't l ic 4)U r (l1l T trrr ('1IRf I 

() 110J&'( ()2201k( 

(T)115m (tl)ll6dk( 

71.A piece of land is 100 m X 21 m. A semicircular plot has been added on one side of its breadth. 

How long will a man take to walk around it at the rate of 3.6 kms/hr? 

(a) 4 minutes (b) 4 minutes 14 sec 

(c) 5 minutes 15 sec (d) none of these 

41ci ZFT clsI 100 d&'I. x 21 4k. l V1i 3TU.clic. '(14 titi i Vi c14 'IS TT1 l 

3.6lvcJ1C'(/UcI *i ii'1 f t1t4'( 1c1c1 I1T t1 qAn? 

()41cic ()4c1c 14c5 

(T)51c1. 15C)5 q,  ci 

72.A train whose length is 150m passes a telegraph pole in 10 seconds. Find the speed of the train in 

kms/hr 

(a) 50kms/hr (b)54kms/hr 

(c) 64 kms/hr (d) 70 kms/hr 
ti r 1WIC eiG1I  150o1l 10cbS i'.d1 l ak(/1Zr Pr r r1r r tr 

dII 

() 501 eflC't/9T 

(1) 64 eli/tic.i 

() 54ç.Wk(fETT 

(El) 70 eT(/1cj 

73.A bullock cart has to cover a distance of 80 km in 10 hours. If it covers half the distance in 3/th of 

the time, at what speed should it travel the remaining distance in the timeleft 
8 km/h (b) 6.4 km/h 

(c) 10 km/h (d) 20km/h 

 109t 8O1bo1k' & q. rzr c ç l It 3SrJTl ? 311'ft  PT qj 1i 

II I t ? 

() 8Zd1/9Zf () 6.4JIl/9 

(Jl) 101a1l/4cI (El) 20fb€4lfEIZl 

74.Find the length of a wire required to go 25 times around the perimeter of a square field which has 

an area of one hectare. 

(a) 10,000 m (b) 1,00,000 m 
(c) 1000 m (d) none of these 

V4 1fl, VEl tR 25 zt..q4 diicl IIc i  31Tlli & tTTF cldlRjI 

(?) 10,000 cffl.'( () 1,00,000 e1ij 

(T) 1000 .4lc (El) .cici1 c1 
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75.A circular road runs around a circular garden. If the difference between the circumferenc'es 
of the outer and inner circle is 44 metres, the width of the road is  

(a)6m (b)7m 
(c)8m (d)9m 

ci1'q cJic1 i tji'1 31 *iJeF( w fr I n1 3fft 31id11q) 11 41.111 i 1v F 3iFt 

44d&'( I't 1c1 t 1T tff cdIIL.!I 

()7o1'k'( 

(T)8eI'k.'. (ET)9 i-1k'. 

Each of the numbered words given below is followed by four lettered words. For each 
numbered word, select the lettered word which most nearly defines it. 

76. DEXTEROUS 
(a) Clumsy 
(c) Skilled 

77. LICENTIOUS 
(a) Immoral 
(c) Satisfaction 

(b) Helpful 
(d) Believable 

(b) Intellectual 
(d) without license 

Each of the numbered words given below is followed by four lettered words. For each 
numbered word, select the lettered word which most nearly has the opposite meaning of the 
word. 

78.PRECARIOUS 
(a) Easy 

(c) Safe 

79. PACIFY 
(a) Darken 

(c) Challenge 

b) Cautious 

(d) Dangerous 

(b) Threaten 
(d) Quarrel 

In the following questions choose a single word that can be substituted for the given words 

80.One who has a compulsive desire to steal. 
(a) Pilferer 

(c) Plagiarist 

81.To steal secretly in small quantities. 
(a) Robbery 
(c) Theft 

(b) Poacher 

(d) Kleptomaniac 

(b) Pilferage 
(d) Defalcation 

82.The part of government which is concerned with making of rules. 

(a) Court (b) Tribunal 
(c) Bar (d) Legislature 
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li the following questions, an idiomatic expression/phrase and its four possible meanings 
are given. Choose the correct meaning. 

83.To fish in troubled waters. 

(a) To catch fish in stormy waters (b) To discover a rare thing 

(c) To be involved in intrigues (d) To take undue advantage of other's difficulty 

84.Gift of the Gab 
(a) A witch's brewing pot (b) To be lucky 

(c) Talent for speaking (d) To get something free 

Pick up the word that fills the blank space correctly 

85.He was a of good food, so he was consulted by all the cooks 

(a) Purveyor (b) Pedagogue 

(c) Consumer (d) connoisseur 

86.Vultures feed on  

(a) Cartilage (b) Cataclysm 

Carrion (d) Carnal 

87. Even a glance will reveal the mystery. 

(a) Curious (b) Cursory 

(c) Crude (d) Crescent 

Two words in capital letters bear some relationship with each other. Discover that relation 
and pick up two words from answer choices which bear the same relation. 

88.CLOTHES: CLOSET 
(a) Feet: Rug 

(c) Ink: Pen 

89.GOVERNMENT: EXILE 

(a) Police: Arrest 
(c) Constitution: Amendment 

(b) Actor: Script 
(d) Beetle: Insect 

(b) Judge: Convict 
Cd) Church: Excommunicate 

Read the passage below and answer the questions (Marks : 4) 

Archaeology is a source of history, not just a humble auxiliary discipline. Archaeological 
data are historical documents in their own right, not mere illustrations to written texts. 

Just as much as any other historian, an archaeologist studies and tries to reconstitute the 
process that has created the human world in which we live-and us ourselves in so far as 

we are each creatures of our age and social environment. Archaeological data are all 
changes in the material world resulting from human action or. more succinctly, the 
fossilized results of human behavior. The sum total of these constitute what may be called 

the archaeological record. This record exhibits certain peculiarities and deficiencies the 
consequences of which produce a rather superficial contrast between archaeological 

history and the more familiar kind based upon written records. 
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)t all human behavior fossilizes. The words I utter and you hear as vibrations in the air 
certainly human changes in the material world and may be of great historical 

significance. Yet they leave no sort of trace in the archaeological records unless they are 
captured by a dictaphone or written down by a clerk. The movement of troops on the 
battlefield may "change the course of history", but this is equally ephemeral from the 
archaeologist's standpoint. What is perhaps worse, most organic materials are perishable. 
Everything made of wood, hide wool, linen, grass hair. and similar materials will decay and 
vanish in dust in a few years or centuries, save under very exceptional conditions. In a 
relatively brief period the archaeological record is reduced to mere scraps of stone. bone, 
glass. metal, and earthenware. Still modern archaeology, by applying appropriate 
techniques and comparative methods, aided by a few lucky finds from peat bogs. deserts. 
and frozen soils. is able to fill up a good deal of the gap. 

(I) What is the author's main purpose in the passage? 
(A) To point out the importance of recent advances in archaeology 
(B) To describe an archaeologist's education 
(C) To explain how archaeology is a source of history 
(D) To encourage more people to become archaeologists 

(II) According to the passage. the archaeological record consists of 
(A) spoken words of great historical significance 
(B) the fossilize results of human activity 
(C) organic materials 
(D) ephemeral ideas 

(Ill) The author mentions all of the following archaeological discovery sites EXCEPT 
(A) urban areas (B) peat bogs 
(C) very hot and dry lands (D) earth that has been frozen 

(IV) The paragraph following the passage most probably discusses 
(A) techniques for recording oral histories 
(B) certain battlefield excavation methods 
(C) some specific archaeological discoveries 
(D) building materials of the nineteenth and twentieth centuries 

91.Write a 300 word essay in English on the topic " E-governance" or "Role Of Media In Our 
Society" (Marks: 8) 

92.Write a letter to District Collector drawing his attention to the need of modern sports 
facility in the district headquarters (Marks: 6) 

-------END--------- 
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